SET/X1(B)/19/26(11)

SCHOOL ENTRANCE TEST, 2019

CLASS : XI
<h el : XI
BIOLOGY
SICACEIGH
Time : Two Hours Maximurdfarks : 100
IMPORTANT

Read carefully the ‘Instructions for Answering’ given o1l the

Answer Sheet and answer the questions as directed :
SR_T R T T IR 3ifnd Wt % T 3T Wﬁﬂﬁﬂaﬁ?
' frdamgER W ?fn%ﬂz .

01. On 11" December 2018, who was appointed as new Governor of

Reserve Bank of India ?

(1) UrjitA’Patd (2) Raghuram Rajan
’ @ Sashikant Das (4) D. Subba rao
. FrEm 2018 1 S o S e wran TEe R g A
e 1
(1) 3ffa gaa (2) ITYAH IS
(3) arferERT=d aTd (4) =1. geaT WA

3 P.T.O.
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02. Natj
Ollal Ed
uc
ation Day is celebrated in [ndia o1l
r 1l

( I:J Septembey 5

(3) Septembe; g @ auRiiee

AR F < (4) June ©

(1) &rﬁ:;@_q forerr faere = rar ST &7

. s T & - Fe mgAMET Gl =

(B) Mra=y g (2 7 H
(4) IT 6

03. Who

was Ilal"['
led as the best [CC Women's player of the year 2018 ?
Smriti Madhana

] = R

(3
3)  Jhoolan Goswami (
Ny 4)
ICC 2018 &%
2 bl e e

| ey Afew i w’
(1) & e afeen Raendl Bl G K
i T T e : i
@) e W (2) wgfa A

(4) oI IS

04. Who is t ;
the chi .
(1) Shi ¢ chief minister of Madhya Pradesh ?
ivrai Qi 3
o a] Singh Chauhan (2) Digvijay Singt
S amal Nath e =
) (4) Ashok Gehlot
meA T e
1 r.“' " o .) -
UL s g e (2) R
4) 3797
(4) 39T e

HHTT AT
J5. 'Ve )
ande Bh;\afat Express' train runs from :
((;J Delhi to Mumbai 2) D
as olkat
B (4) Delhi to Ahmd;a
c abad

{Eﬁgw = y
G QT ﬁ qiJe ! x iﬁ{
“ ) Tl & HeHgTqe

A

3
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06. 'Lay down' means :
(1) resign deposit
(3) 1nvest (4) omit
07. The synonym of 'encore' is :
(2) enable

@ Acclaim

(3) encompass (4) formulate

08. Choose the odd one :
Seminar (2) Semicircle
(3) Semifinal (4) Semiliquid

09. He demanded a Thorough inquiry. The word '"Thorough' 1s
(1) Noun @ ?@ectim .
(4) PrepoSition

(3) Adverb \5)

10. Who among the following is a romantiggpoet ?
(1) John Milton ) John Keats

(3) W.B.Yeats (s, Tennyson
11. Antonym of 'Economy’ is : .
(1) Excess (2) Miser
(4) Money

@ Extravagance

12. Who is the author of 'Into the Water' ?
(1) Colleen Hoover (2) Shari Lapena

@ patla Hawkins (4) Dale Carnegie

13. Ac¢meis:
?h Skin condition causing red pimples

(2) fruit of the oak tree
@ the highest point of excellence or achievement

(4) a unit of land area
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14. An ewe is -

(1) name of a tree (2) a bigjug

a female sheep (4) a war ship
15. "If winter €omes can spring be far behind’ -~ Who has written it ?
@ P B Shelley 2) ST Coleridge

(3) GM™m Hopking (4) Samuel Butler
16. WIS T Ry ey e & 7
(1) A= = SR <
(3) BT vy (4) 9 &
17. ‘FEAM Rread gy 2 -
(1) FHET T gy (2) 51T SiehT T
@TT‘TETI‘& ISEREEET (4) HeRd Al
18. ‘ﬁﬁl?ﬁwaam’%a%aaq%?
(1) FHHtgax | (2) W& AEHA T
(3) TTgTT wti ST
19. B9 ST q@d & & forw wder sexe Sy - YT | BT ?
@FITF%F’—T ST (2) 5T s
(3) . (4) gar wfee aTepraH)

20. =1 H & HiF-41 TEd T 7
(1) FSTEehl Hea= 9 & S | - b
(12)) Foraer st Ted g - g
(3) i @ wae g=r - Frshfam
(4) ST 3T 9 % 9 - e
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(:)5 + N ‘ 2) & +

B R +8 (4) & + oA

22, ‘BfET A2 X B, ST 51 9¥ i
S UX 9IR 9 Seg, a1 il 99 |
FEH PHI-AT FAART & 7

@Zm-cs ' (2) ©9h
(3) =W (4) sTfereatfeRT
23. ‘weryfer fHga @ § 7
@gﬁqsrmm g (2) STHLIEhT T
(3) meradt aHt (4) T

24. ‘%—%Immﬁ@ﬁ’—wmﬂ@aﬁW%?
() Prerdrer bl @ -
(2) HHASIIT SATRT QATHRIA T AR
(3)@@@%@%%%%
(4) ST9T Tl H HIT A PR ,

25. ‘die gEy’ 9 H -6l |qHIE T 7
(1) Tedm o9 (2) TgEH
(3) Tgefe Okakus

26. Atomic numbels of, pairs of elements are given below. Identify the
pair which will férm ionic bond ?

et ﬂﬁfféfﬁ:éﬁ gAY HHi ¥ T ¥ gH d - g

el - T ¢
(:) 18, 17 (2) 14,9
(3) 17,20 4) 9,16

7 ’ ¥ = PoT.O.
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27. Non-sooty flame will be expected from :

TH T saren fpgdy wra @l
(1) ¢, H, @] C_H.

(3) ¢, H, C, H,,

Which among the following is an exothermic reaction ?

ﬁmﬁﬁwatﬁaﬂrfﬁﬁ”{ma%:r%?

(1) 280, —5 2 SO, + O, (2) Li,CO, — LiO + €0,

2H,+®, — s 2H @© (4) 21—1g0——->2Hg-+—02

28.

29. In the reaction 2H,S +8S@, ___, 2H,0 + 3S the rehucing agent ig -

sififsar 2H,s +so, 2HO+SSﬁ%FaEE%

@) 1,3

(3) H,O [(4)

30. Baking soda is produced by Wh1c$process ?

(1) Chlor - alkali porcess @ Solvay process

(3) Soda process (4) Haber's process

Wﬁm%ﬂ%«%ﬁwmw%?

(1) % - AT fafy (2) | fafy
(3) drsT fafer (4) Bex fafy
31. Which among the following compounds can be identified using Tollen's
reagent ? |
41) CH,CH,CHO (2) CH, CO CH,
(3) CH, CH, COOH CH, CH, CH, OH




32.

33.

34.
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Prer & @ Brg AR 4 9ear ot STERESE & gy @ o @l
2

(1) CH,CH,CH®
(3) CH, CH, COOH

(2) CH, C® CH,
(4) CH, CH, CH, OH

A substance that donates a pair of electrons to form coordinate covalent

bond is called :
(1) Lewis acid
(3) Bronsted-Lowry acid

wmﬁﬁwﬁaﬁ@ﬁmmﬁaﬁaﬁ%—taﬁﬂﬂ
fertor heaT 8, sHearar © .

(1) <feq s (2) dfag &m
(3) s dad o= (4) sTRT @Il &Y

Lewis base
(4) Bronsted-Lowry base

Tertiary butane gets oxidized with o@dizing agents like alkaline

KMnO, to :
(1) Isobutane (2) Ter-butyl alcohol

(3) Secondary-propyl alcohol None of the above
KMnO, 519 W%ﬁ%mma@\%ﬁ%mﬁ
g T © - | |

(2) gfiah-=eE JThied

(1) emsaegeH
(3) %?ﬁwﬂaﬁum 3Thed (4) SUUFRT H HBls el

Electronic configuration of AI*" is :

A~13+}M =QFeITs fa=amE @

(1) 2,83

@ e

2) 2,8,8
4) 2,8,8,3

P.T.O.
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35.

36.

37.

The reaction in which two compounds exchange their ions to form
WO new compounds is called :

@ displacement reaction

(2) combination reaction

(3) double displacement reaction

(4) redox reaction

I& HAflERar Brad & D o emaet @ A T & 79 A

1 Frefor ey T et D &
(1) FrRemg sifsfar (2) HATAweIRIRRAT
(3) Taferemas erfwfpar (4) s SAfHTERAT
The chemical name of Vitamin B, is :
(1) Ergocalciferol - @ Cholecalciferol
(3) Tocopherol (4) Phylloquinone
e D, @ ?THW% I E
(1) STTTHaReT (2) RITHAB A
(3) EIRIHIIT (4) HIZFREAT
®

Which oftthe following electrolytes exhibits maximum conductivity ?
(1) 1M NaCl (2) 1MKCl

4}3] 1 M Ca (NO,), (4) 1M AL (SO,),

frsy & & shr—a fagga erqeey wﬁaﬁ%ammga%mg?
(1) 1M NaCl 1 M KCl
(3) 1M Ca (NO,), . 1 M AL (so,),

10
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38. In the redox reaction -

x KMnO, + NH, —, y KNO, + MnO, + KOH + H,0

The values of x and y are :
(1) x=4,y=6 (2 x=3,y=8

3) x=8,y=6 | x=8,y=3

= S sifafrar § -

x K MnO, + NH, —, yKN03+Mn02+KOH+H;B

xTUT y & AM § ®
(1) x=4,y=6 | 2) x=3,y=8
3) x=8,y=6 49 x=8,y=3

39. Which one of the following electropic configuration corresponds to

the most electropostitive character ?

(1) fHe] 28 g [Ne] 3 st

(3) [Ar] 4 s! . [Xe ] 6 s!

Frer & & F-A1 st e qed ol faga amersh ot
1 wEfafd Hm ? |

(1) [HeT2 s @) [Nel3s

(3) [Ar] 4 s! (4) [Xe] 6 s!

4h3g of NO, contains same number of molecules as :

(1) 8 g of oxygen (2) 28 g of carbon monoxide

(3) 16 gof SO, 22 g of CO,

11 P.T.0.
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QSWNOQﬁaTﬂaﬁﬁH@TGﬁ?ﬁ‘eﬁ?ﬁﬁﬁﬁ:
(1) 8UTH HTaRfioTH #H

(2) 28U s HiAl AFAES H

(3) 16U AeHY T2 IFAES H

(4) 2239 FHeEq g FFAES H

41. Which compound amongst the followings shows maximum ionijc

character ?

@ Mg Cl, (2) BacCl,
(8) NaCl (4) CsCl v
ﬁmﬁﬁaﬁﬁ—waﬁﬁmaﬁ%aﬂaﬁﬁﬁm%%?

(1) MgCl, (2) BaCl,

(3) NaCl (4) CsCl

42. Dobereiner's triads constitutes
(11 LiCe.Cl (2) Na, Sr, Br

(3) K, Ba,lI None of the above

STERTEAY 3 # nfaer & - |
(1) Li, Ca, Cl (2) Na, Sr, Br
(3) K, Ba,lI (4) IYURT J Hls ABH

43. The chemic name of Milk of Magnesia is :
(1) Magnesiam hydroxide (2) Magnesium chloride

(3) M‘a&nesium sulphate (4)
fifeep affts Beaferar a1 e M ¥

@ gfrafsray esgeRIEs (2) ARAREE aEs
(3) #Afrafery ache (4) AF=fEE Tgee

Magnesium nitrate

12
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44. A m.eLgl when left in air for many days turns green, but when heated
In air 1t turns black. This metal is :

(1) Fe : @ Cu

W (4) Ag

U g S gar # g Rl o 8ie 3 w0 & o @ awn g
H I #RA F N 8 o B, gg uig o

1) Fe (2) Cu

0 BF (4) Ag

45. Plaster of Paris is prepared by heating gypsum to a tcm)erature of :

(1] 273 K (2) 373 K
(@) 473k (4) 500 K
fSrem &0 fohd a19shd U T e ¥ wEy offe 9| e=er € 7
(1) 273 afead @) 373 Bfead
(3) 473 hica (4) 500 hfca

46. The order of reactivity of metals Zn, Fe, Cu, Al is :
(1) Zn=Cu>Al>Fe (2) Zn > Al > Cu > Fe
(3) Al>Zn>Fe» Cu (4) Al>Cu>Fe >Zn
Zn, Fe. Cu, Al aTgaf] @1 aiffparefierdr =r @&t &9 & :
(1) Zn>Cu > Al> Fe (2) Zn > Al > Cu > Fe

@ M>\zn>pe>(:u (4) Al> Cu > Fe > Zn

47. WQ a piece of iron is placed in a solution of CuSO,, the blue colour
of selution changes to :

(1) yellow (2) brown
@ green | (4) red

13 P.T.0.
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T AR W U geper cuso, B R # SN I B, A
AT ¥ wRafha o omer @
(1) e () I
(3) =BQ (4) <A

48. The gas evolved when lead nitrate is heated, is :

Nitrogen (2) Ammonia
@ Nitrogen dioxide (4) Nitric oxide
S AEIT H T e q) Freper actt T4 T
(1) e (o) emREn | :
(3) FELISTT =% SATFETEE (4) R STHARS |
49. The nature of zinc oxide is : |
(1) Acidic ' (2) Neutral
(3) Basic (4) Amphoteric
5 sTrerdrEs @t u—agl{. g ¢
(1) ST | (2) Sl

(3) &= | G%mwfﬁ

50. Which of the f6llowing hydrocarbons can decolourise bromine water ?

@ Cele (2) CgHy,

13} %Hm (4) CQHQO
§ q PE-97 BEeiEEe SHE S B TR HT T & 7
(1) C’ﬁle (2) CgHy,
(3) CgHyg (4)  CoHy,
14




81,

S52.

S53.

SET/X1(B), 19/26(ii)

lf mass of an object is j

T ncreased by 4 times and vejoc
Kinetic energy will be -

ity is halved, the
half of previous kinetic energy

Same as previous kinetic energy

double of previous kinetic energy

nothing can be predicted

(1) weet & omeft & s (2) 9B P\ v
S I I S L T T T ——

The change in focal length of an eye lens to focus the image of objects
at varying distances is done by the action ef :

(1) Pupil Ciliary muscles

(3) Retina (4)

Blind spot
A T A B ol F aRady R sy
(1) NIRF1R (2) e argafsr grT
(3) sfte gea T (4) oy favg &

A ball of mass 15Qg starts moving with an acceleration of 20 m/sec?,

On the way it is kit by a force which acts on it for 0.1 sec. The impulsive
force is :

(1) 0.5Ns (2) 0.1 Ns

0.3 Ns (4) 1.2Ns

150 ATH S| hl U g 20 HIeT /A%s? & ©or @ 1y gy
FHIA 2| T H Uk G B BN 3@ AR AT T ST g9 0.1 e
&+ foo arrar & e u¥ ere arenr et a9 Braer e

(1) 0.5 e 4. (2) 0.1 e ?fl‘
(3) 0.3 e H. (4) 1.2geH H.

15 - P.T.O.
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54. Two wires that are made up of two different materials whose specific
resistance are in the ratio 2:3, length 3:4 and area 4:5. The ratio of

their resistance is -
(1) 6:5 (2) 6:8
@ 5:8 (4) 1:2

F P e & ¥ gu A ar Rt gk BTV 23,
TS BT ST 3:4 ST A=y apr ST 4:5 T | Al §T% IRy

1 STATT BN
(1) 6:5 (2) 6:8
(3) 5:8 (4) 1:2

55. In a smgle uranium fission, the energy liberated 18 3

@ 200 M eV (2) 300 M eV

(3) 400 M eV (4) 500 M eV

EE & ufey AR fregs § st oot o=t A B, 98 ©
(1) 200 fafera seeREtT dee (2) 300 PR SR A
(3) 400 FAfeaT serrRE dice (4) 500 MR =™ Ao

56. Nichrome is*‘allog of :

(1) Cu, Ni - (2) Cu, Mn, Ni
@ Ni, Cr, Mn, Fe (4) Ni, Cr, Pb, Cd -
g e fysiarg ®

ﬁh Cu, Ni (2) Cu, Mn, Ni
(3) Ni, Cr, Mn, Fe (4) Ni, Cr, Pb, Cd

16
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57.

58.

59.
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AR and AV are wave lensth
correct option . gths of 'red” and 'violet' lights. Choose the
Y 1
1) R "Te ' gy ¥ 1
AR 1.6 @ R=T3
o o L
AR 1.8 R _ 2
jiR Ff&nﬁw THHAST: T TAT ST Ueh1eT fomeott @or qar Red B 1 GET
R gt
AV ]
1 3R=1s @ e
R Le AR1LT
AV 1 )
B A - W e
R 1.8 AR 2
1 KWH is equal to :
(1) 3.6 x 10°J ) 36 x 10°J
(3) 6.3 x105J 4) 6.9 x 10°J
| fpclare deT god el § ¢
@ 3.6 x 109 & | (2) 36 x 1065 &
(3) 6.3 x 1053 & ©(4) 6.9 x 10°TT B
®
Who amo#g the following obtained the value of Gravitational constant
R 4

(1) “Newton (2) Kelper
(8) Galellio Cavendish

WWW'G'%@WW&%WWWW:

(1) A | (2) TR
(3) driferar (4) HAfESH

17 P.T.O.
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nce at a speed of 10 km p

st one-third dista P
aining at 40 km h-l,

60. A bus is traveling the fir , e Tem
the next one- fourth at 20 km h’! and the
he bus ?

What is the average speed of t ;

(1) 17 km h'! (2) 17.8 km h
-1

(3) 18 km h'! (4) 20 km h

o @ gedh uw - fed g0 10 AT i
ﬁﬁ@zo%.ﬁ.ﬁﬁiﬁﬁﬁﬁﬁmm@%ﬁﬁ
Her 9 &% @ o e 81 99 W ?
(1) 17 B4, ufa =T

(3) 18 f&w.# 1. mfcr =er

: . : ®
er at temperature 60°C 1s mixed w1t§% gm water at 20°C
he mixture ? '

(4) 20 f&5. 4. dfer go

61. 50 gm wat
What is the temperature of t

(1) 30°C 40° C
(3) 48.5°C : @ 50°C
00 T IIHET AT S0TH W F200 AT AT 20T T

fereram STTaT € | PrereT T ApdEhE fehdeT B 7
(1) 30°&HIIT | (2) 40°HEE
(3) 48.5°|ET (4) S500FHIE

A force of 10N is acted on a body in horizontal direction and the body

62.
is displaced 5m making 60° angle with horizontal. How much work is
done ?
(1) S0J 25 J
(3) 20J 4) 10J
@Wmaﬁﬁﬂﬂaﬁﬂaﬁmﬁ%ﬁﬁwnm ST © R 9%

- < 0 \

%ﬂﬁﬁmiﬁwgaﬁo?aﬁwwﬁgqsrﬁa%?mﬁaﬁﬁ%lsﬁw
(1) SO SI<T (2) 25T
(3) 20 9t (4) 10 SIeT

18
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64.
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Weight of a solid in air is 10N and in water is 6N. What is the relative
density of solid ?

1.6 (2] 2
(8) 2.25 %) 26

Pl ST W BT § WX 10 =gee @ o & 6 gew g1 2 H
sTaferd g fpaeT B 7

(1) 1.6 2) 2

(3) 2.25 (4) 2.5

_ 5t + 6, where

Position of a particle 'x' varies with time 't' as X £
ment between

value of x is in meter and t in second. Find the displace
t = 2 second to t = 4 second.

(1) O ‘ @ 1 meter

(3) 2 meter (4) 4 meter
ﬁ?@aﬁaﬁﬁaﬁr'x,ﬂﬂﬂft%waﬁﬁwﬁqﬁaﬁiﬁéiﬁ
Tl |
x=t9—5t+_631ﬁ'x'%!ﬁﬁ'tﬁ?f?a?l‘{'t'mm@%gﬁ%l?ﬁa'{ﬁ
G o g quT 4 Fews & e e T BT

(1) O 2) 1#X

(3) 2T (4) 4 ¥

A light of 400 nm wavelength enters frqm air into a medium 'M' wit}

refractive index 2. What will be the wavelength of light after it ha:

entered into the medium ™' ?

(1) 400 nm @ 300 nm
(3) 200 nm (4) 100 nm

19 P.T.€
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66.

67.

400 ey ﬁﬁ%&ﬁaﬁWSTﬁfW“'Waq.Tm mﬂﬁ%ﬁﬁ
P T sradein 2 ¥ 1 d1 wead o 7 9T FH F q
HEETQTWFITIT%ET%W@WT?

(1) 400 =1 ey (2) 3ooﬁ'*ﬁrﬁET

(3) 200 9 Hyay (4) 100 ST HIZX

Solar constant at a place is 1.4 kw/m?. How much solar energy ig

received by an. areq of S m?in 10 seconds ?

7 % 102 Joule (2) 7 x 10° Joule

(3] 7 x 10* Joule (4) 70 Jeule

(1) 7x102 5 (2) 7 x10% 53T

(B) 7 x 10 S (4) 70 S

At which place on earth dip angle is 90°:

(1) At magnetic pol (2) At magnetic équator
@ At geographical equator (4) At any place

T & R M 9w\ i ogo gy -

(1) Fr=edta g uv () T e g o

(3) HNfT smer Yar ux (4) Bl off v qv

1 e ectron volt is equal to :

@ 1.602 x 10'° Joule (2) 1.602 x 101 Joule

9.1 x 103 Joule (4) 9.1 x 1% Joule

20
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| g dlee SRET 8
(1) 1.602 x 105 & (2) 1.602 x 1013 &
(3) 9.1 x 10%'I[« . (4) 9.1x10%3@ &

If the current thrpugh a resistor is increased by 100% at constant
temperature, the increase in power dessipated is .

(1) 100% 200%

(3) 300% . 50%
aﬁ%@nﬁﬁwﬁﬁgﬁwaﬁr 100% ST & a1 fekT &9 &g S -
(1) 100% (2) 200% ®

(3) 300% (4) 50%

Number of electrons flowing through a eircuit, if 1 Amp of current
flows through it for 10 sec, equals to :

(1) 625 x 10" (2) €8.25 x 1@
(3) 625 x 10 : (4) 62.5 x 10"

Rl Pregr ORTer # o ot 9 arT g W@ E A 10 e A
R Slag OTX SR

(1) 625 x 10 (2) 6.25 x 1016
(3) 625 x 108 » (4) 62.5 x 101
5}

State the frequency of power supply generated in India :
(1) 40 Az ; @ 50 Hz
(3) 60 Hz (4) 100 Hz

§ foge anyfd fpa omgfed W) @ STl ® 7
(1) 40 &S (2) 50 &S
(3) 60 &S (4) 100 BT

21 P.T.O.
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72. In electric bulb Tﬁngsten wire is used because€ :
Eéj Tungsten hag high resistance
It has low resistance
(3) It has high melting point
(4) It has low melting point
PO S ¥ S @ qre ar gwde @ 2, w6
(1) SR St s v a2
() = SR awer 5w e 3
(3)  SHET T IH Far B 2
(4) SEE T@HIE FH gy D
73. A force of 70 newton is applied on a body to produce a velocity of 9.8
msec'. The power is equal to :
@ 686.0 watt (2) 860.6 watt
(3) 760.0 watt (4)

None of the above

70 SIS T I Uh I I AT DA 9.8 MG gy 7 I
m%raﬁa%%ﬁﬂ@ﬁm%:

(1) 686.0,dmE (2) 860.6 aT=
(3) oo i (4) IR F BE

74. A boat moving with a velocity of 20 ms'! in a sea, is rockeq by waves. If

“the crests of waves are 80 m apart, after how much time the boat will
beunce up ?

@ 2 seconds ( (2) 3 seconds
(3) 4 seconds (4) S seconds

22
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w%zoﬂ?.ﬁ.-laaﬂaq@ﬁwﬁ%amma@ﬁ%
.mﬁGWaﬁﬁ%ﬁﬁra%mﬁWﬁ%%fﬁ%nwsorﬁ.
T B AP e qv e Ser ARl ?

(1) 23Fs | (2) 39FE

(3) 4®ds (4) 5aFs

The ratio of therma] neutron to product neutrons in nuclear fissien
235 . :
of » U is.:

o %Hﬁtﬁa%@vwﬁaﬁarﬂgq@dmm T oh1 SIS
e : ' ' :

(1) 12 | 1:3

(3) 1:1 ' @ 1:4

The Nobel prize in Physiology or Medicine for the year 2018 was

~awarded to James Alison and Tasuky Hopnjo for their discovery of :

(1) treatment of autoimmune diseasés
(2) self splicing RNA molecules ér Ribozymes

@ cancer therapy by immune regulation
(4) autophagy
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77. The enzyme nitrogenase' is involved in :
(1) reduction of nitrate to ammonia in plants
reduction of atmospheric nitrogen to ammonia in plants
(3) regulation of urea cycle in plants
(4) breaking down of nitrogenous compounds in plants

TEESTAST 3ilew Ry e ©

(1) 9 F e & srgevor @ orREr a9

(2) ﬁ%ﬁﬁaﬂq@ﬂqwﬁwﬁa@ﬁﬁﬂw
(@) Wt F afar = 3 Pty §

(4) tﬁ%ﬁﬁﬂmgaﬁﬁﬁaﬁ%ﬁwﬁ

. ; ®
78. Lungs have large number of narrow tubes called :
(1) Alveoli (2) Bronchi
@ Bronchioles (4) Trachea

Wﬁa@ﬂ@rﬁﬁwﬁﬁﬁﬁmﬁaﬁmw%:
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79. Which genetically moﬁiﬁ'ed crop is be.ing cultivated in largest area in
India ?
(1) Bt brirffal (2) Bt maize
@ Bt cotton ' (4) Golden rice
: @
ferer ST= Wﬁ@?ﬁﬂﬂﬁ%ﬂfﬁwﬂlmﬁéﬁ%?
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80. Yellow colour of urine is due to -
(1) Bilirubin (2) Uric acid
@ Urochrome (4) Creatinine
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81. Which of the following is known as antisterility vitamin ?
(2) Vitamin D

(1) Vitamin A
(4) Vitamin K

Vitamin E
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82. The first enzyme which was crystallized in pure fg?m was -
(2) Catalase

(1) Amylase
(4) Peroxidase

(3) Urease _
wmﬁﬁ@@wﬁwm)ﬁﬁmw,aﬁw:
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83. Spot the mis-matched :

(1) Sertoli cells - nutfitive

(2) Graafian Follicle — corpus luteum

@ Corona radiata - sperm
(4) Leydig cells — Testosterone
T CARCEE] He
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84. Which of the following vaccines contains killed viruses :

Sall (2) Salbin
(3) BCG 4) DPT

Frs & & P A% § we fwreg 2id & 7
(2) wnfeasd

(1) &k
(3) . .Sf. (4) 4L
85. Enzymes of small intestine remain active at optimum pH of
7-8 (2) 5-6
(3) 3-4 (4) 2-3
B 37T & domew @ afed veT & g=dd pH B
(1) 7-8 (2) 5-6
(3) 3-4 (4) 2-3

86. Which of the following is not a mechanism to increase body
temperature ?

Increased metabolism (4 Vaso dilation
@ Shivering ) Pilo erection
1 & | &9 99T & ardas &1 der gl Erarfata 98 &)
(1) =Fa9=a & ghx (2) arfeeRt s TeT

(3) HIE (4) TS @S BT

87. The hormone that increases the heart beat if present in higher

concentration, 1s g

@ Adroagline (2) Insulin
‘ ~alcitonin (4) Glucagon
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g8. The simple inorganic substances released in the environment during

89.

90.

91l.

decomposition and mineralization are reused by :
(1) Detritivores Producers

(3) Carnivores . Decomposers

STqEEsT Ue @R & A wataer & e e arl st
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(1) STuRETETd (2) TedTEH

(3) HHET (4) STUHCE

Which one of the following is not a biofertilizer ?
Mycorrhiza (2) Agrobacterium

(3) Rhizobium (4) Nostoc

Brey § @ 19 ST 3k A6l § ¢
(1) FTSHITZSI (2) SRR

(3) ESIeIH (4) +TEIrD

Closed circulatory system occw.zrs in ;

(1) Cockroach Tadpole/Fish
(3) Mosquito (4) Housefly

g d=rT gorel e %ﬁ 2l

(1) fa@=rga (2) U /AB
(3) HA=BY (4) FEREl

Which t1 ouQs absent in monocots ?
(1) Chlgienchyma (2) Sclerenchyma

(3) Aerenchyma . Collenchyma

%aﬁﬁcr:ﬁ aﬁﬁmqﬁtﬁaﬁqﬁdﬁ%?
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92. Which one is a micronutrient for crop plants ?
(1)  Calcium

Iron
(3) Magnesium (4) Potassium
ﬁf‘ﬂ'ﬁﬁﬂ%}mwﬁﬁqﬁzﬁaﬁﬁmq\m@rﬂ?ﬁaﬂ%?
(1) Hfceas (2) e
(3) A hfarw (4) drefaEe
93, Grafting is most successful in :
(1)  Monocots Dicots

(3) Pteridophytes

AT Tl e .
(1) Wb OI57 o= & 2) fedltst w=h
(3) =RSrhEe F (4) SRR H

(4) Bmyephytes

94. 'Inulin'is a polymer of :

@ Fructose (2)

amino acids

disaccharides
(4) fatty acids

‘s:g%m’ UTAET B
(1) sHaeTsT (2) = FHugzE @
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95. Phe aged erythrocytes are destroyed by :

Spleen and Liver (2) Pancreas
(3) Kidney (4)" Gall bladder
(1) wier ud aghd &= (2) smaT BN
(3) FFh & (4) T g@r
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96. Which is the most abundant protein on this earth ?
(1) Casein
(2) Collagen
@ Ribulose bis-phosphate carboxylase
(4) Phosphoenol pyruvate carboxylase
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97. In which of the following, 'Lysozyme' is present ifi trage amounts ?
Tears (2) Cow nfflk
(4) Saliva

(3) Human milk
Com § § FpEd TIEESTEA g & AN A G Sfdr € 7

(1) g (2) e @ I
(3) AL T Y (4) @
98. A 'Cistroz' 1S :
(1) Largest element in &l;;\gene which encodes a polypeptide
encodes an amino acid

(2) Smallest element in the gene which
(3) A part of gene that undergoes crossing over an

become recembinant
. ® - . . :
(4) A non- functional domain in the gene which shows cis-trans test

d mutation to
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99. For the discovery of DNA double helix model, who received Nobe|
prize ?
(1) James Watson and Francis Crick in 1953
(2)  James Watson and Francis Crick in 1962

James Watsen, Francis Crick and Maurice Wilkins in. 1962

(4)  James Watson, Francis Crick and Rosalind Franklin in 1962
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100. The term ’Biomagniﬁcation' refers to @

(1) Increase in the growth of microerganisms in human body due to
contaminated food cons&}

Increase in the co entration of non-biodegradable pollutants
as they pass throtigh food chain
(3) Sudden increaﬁS

(4) Increase in environmental degradation due to human activities

on

n size and population of microorganisms
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